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profit c. marginal coat; zero profit  d. average cost; 2 posinive profit 2. marginal cost; 3 positive

This test includes two pa:t.s. with 10 multiple-chaice qﬁestions in sach part. You cnly need to wnte
dawn the correct answer and need not give explanation.
Fart I (Each question has anly gne correct answer and accoumnts for 5 points)

1. The income effect of an increase in the price of & good will vsually be the is the

income elagticity of demand. 8. roore negative, smaller b farger; larger e smaller; karper
d. larger, arnaller &, larger; morv;« hegative
Z. Fran boys only CDs end candy bars. The principle of diminishing mee ginal rare of sebstitition
means that, aleng one of Fran's indiffarence curves, ag she ncreases her consumption of CDs:
a. Her vyluation of an extra O, measured in candy bars, falls. k. Her valuation of an extra candy bar,
measured in candy bars, fulls,  c. Her valuation of an extra CD), measured in candy bare, rises.
d. The numbet of candy bars she must give up to buy ancther CI) fafls, e The numb:r:;f Cla she
st give up o buy another candy bar falls,
AIf the comt of.a fized ingut increases:  a. The average cost and marginal cost curves both shilt
downward. 1:} The u-m:ﬁ:I cost curve shifts upward, but the average cost curve is unchauged.
c. Neither the average cost curve nor the marginal cost curve is affected.  d. The average cost curve

thifts upward, but the maiginal cpst curve is unchanged.  e. The averege cost and marginal cost

curves both shift epward
4. At low levels of produgtion, average cost falls with outpyt as the ____ is divided among more unila
af outpat, but as production Increases, average cast begin io tise as the comes to dominste the
effect of the _ 8. Rverage variable cost; fixed cost; overhead cost  b. sverage variable cost;

fixed cogt; nverage variable cnst ¢ fixed cost; overhead cost; fixed coat . fixed cost; average
variable cost; fixed cost o, marginal cost; sverage variable cost; Targinal cost
5. Wher some of a profit-maximizing firm’s costs are sunk costs, the fism will leave a competitive

carket it a Marginal revenus exceeds market price.  b. Total varisble cosi rises above total revenue.

¢, Averege revenue excerds market price.  d. Minimum average cost is less than market price.

#. The total of fixed and veriable cost is less than total revenue.

&. Let P denote price, MR denote marginal revenue, end MO denote meargingd cost. A perfectly
cnmpeﬁm"uﬁnusﬁts bo nmximize profit. For o perfoctly competitive firm, it is always te case
that ____. Agaresult, ﬂ:mpqrfhody competitive finn maximizas profit whers

a MR:"MC, MILR‘-?. MC<P b, ME=MC; ME=F; MC=P. . ME=MC; MR<P; MC<P,

d. MR>MC; MR=P; MC<P. <. MR<MC; MR>F; MC>.

7. At iupmﬁtm the mumopolist will set & price that is grester than marginat cost, The
difference between price and the monopolist's marginal cost will be smaller, the:

. Smaller is the prige elasticity of demand. b. Larger is the price elasticity of demand.

<. Smaller is the zeaponse from iﬁ commetitars. . d. Larger s the price glasticity of supply. e Smaller

ia the price elasticity ufsupply .
8 In the kinked dcmsud curve medel, demand - ]s less price-elastic for price increases than for

price decreazes, b, Is more price-inelastic for price increases than for price decreases. c.. Is moare
price-elastic for price incrnses than for price decreases. d. Is more price-elastic for price decreases
than for price increayes.  m Will be price-inelastic at high prices and price-elastic at low prices.

9. In s monopsany, the rnmrg;:nn] cogt of the input:  a, Bxceeds its prive and avove of the input is hired
than in a contpetitive market.  b. Lo less than ite price and mare of the input i3 hived than in &
competitive market. . Equals jta price and the same ammmit of the mput 12 hired as in a competitive
market. L Is Jess than its prics and less of the input s hired thas in & competitive market.

" . Baceeds its prico and lesa of the input is hired then in a competitive market,

10, 1F a regulatory body required a naniral mooopoly to cherge the economically efficient price, price

would equal | and the firm would make a. marginal cost; a lass b, average cost; zero

profit
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Pm]IfEanhquesuonhaa only on¢ correct answer and accounts for § points)

1. Por e small open economy with perfect capital mobility, which of the i‘nllowiug policy can itcrease
a highest income leved in the short m? (A) an increase in money supply in a fied excheage rate
sysiem (B) an increass in governrnent purchase in g floeting exchange mie system (C} & decreass
in imports in a foating exchange mts system (D) u decrease in income tax & a fixed exchange rate
syater (B) none of the above.

2. Continuing with question 1, the event of the cortect answer in question 1 can increase the income
level becanse it reaults in an mcrease in (A) conswmption (B) investment () government purchase
(I} nee expart (E) all of the above,

3. Continuing with question 1, which of the following policies will result in an in¢rense in money
supply in the end? (4) an mcrease in money supply in 2 fixed exchange rate system {(B) an increase
in povernment purchase in 2 floating exchange rate system () a decrease in imports in s floating
exchangs rate systom (D) a decrease in income tax in a fixed exchanges rate syst:m(E}nc;nauf[ha
sbove. ,’-d-_-

4. Wkich of the fallowing conditions may lead to speculative attacks in the foreign exchange market
except (A) adopting a fixed exchange rate (B) the domestic curmency is avervalued (C) adopting a
contractionary manetary policy (1)) The market equilirium nlorest rate is very low.

5. The introduction of individus] tetirerment accounts in & closed economy raises the after-tax interest
ratc on saving for retirement. The substitution sffiect of this change i8 {A) an increase in saving,
which reinfarces the income effect. (B) an increase in saving, but the income effect is & rmduction
in saving. {C) a reduction in saving, which reinforce the income effect. {D) a redustion in saving,
but the income effert i an incrense in anving. {E) an increase in saving, with no offsetting income
effect.

5. Which of the following statements regarding the Solow growth model is not comect if the initial
capital labor ratio ia lower than the golden rele level? [A) an increase in the saving cete will
initislly increase consumptinn. {B) an increase in the saving rate will initially increase investnent
(C) an increase in the saving rate will inirially increass the output, (D) None is incorrect,

7. Ifthe scongary has 8 downwardly rigid wage and excess capacity, an increass in capacity shifts (A)
the aggregate supply curve rightward, but has no effect on the price level {B) the aggregate supply
curve rightward, and lowers the price level (C) neither aggregate supply nor aggregate demand
with the result that the price level in unaffected {I¥) the aggrogate demand curve rightward, and
raisas the price level (E) the aggregare demand curve rightward, but has na effect on the price
lavel.

8. 'When the central bank imcrezses the money supply, the inlerest rate cvemtually increases without
decresing in the beginning. This situstion indicates most Likely that {A) the Equidity preference
effect is dominated by the income effect {B) the Jiquidity preference effect is dominated by the
expectod-inilation effect (C) the liquidity effect is dominated by the price-level effect (D) the
expcctnd-mﬂaum effect appedta very fast (E) All are correct.

3. mnf&eﬁﬂomgmumﬂmuhmmmmem mrmlmcydmnd(ﬂ}mmrﬂscm
the price level fﬂ} 8n increase in the nominal intersat rate (C) an increase in the expected inflation
rate (D) an increase in the muunber of the ATM machines,

10. If the 3DP and GNP of Taiwan is initislly the same, then which of the following event will result
in a larger GD)P than GNF? (A) many professors who used o teach at the USA remmed to Taiwan
(B} Many Taiwaness companiss invest in the Mainland Chins (C) [BM increases its purchases
from the Taiwaness computer conxpamies {)) Triwanese banks lend capital 1o foreign companies
and earn intereats figm ﬂwm{ﬁ) all of the above.
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